Univariate Data Sets: Problem Set 1.3 K‘M}-

1) & You got an 82 on your first math test. The scores of the class (including yours) are $2, 91, A, 100,
28, 77, 83; T 88, 84; 8% 84 This data set is called “Math Test Scores”. (N © po. Vet
28,714,77,32,8%, 34,84, 0l & +,88 91, 10D meclian : 84y

a. Write a sentence or two that convinces your parents that you did really well on this test.
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b. Now write as if you are your parents and convince your son/daughter that they didn't do so
well after ail.
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2) In problem (1), assign each score to th variables with the index j, that is 5,=82, 5,=91, ..., $,,=84. GSS .
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a. Werite an expression for the sum of the scores using sigma notation.
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© b, Writean exp‘ression for the mean of the scores using sigma notation.
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3) Make up a data set of five data values in which mode is negative and X is positive.
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4) Make up a data set of five data values in which X is negative and the mode is positive.
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5) 8 In the 1996-97 hasketball season, Michael Jordan earned $30,140,000. The rest of the team’s
salaries can be seen by opening the Fathom file called “Chicago Bulls.”

a. What'is the mean salary of the team?
4174790
b. What is the median séla_r\) of the team?
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¢. Ifyou read a newspaper story about the Chicago Bulls in 1956-97 that used the mean as a
measure of center, what type of “ spm * would the writer be trying to use?
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d If you read a newspaper story about the Ch:cago ) Bulls in 1996-97 that used the medianasa
measure of center, what type of “spin” would the writer be trying to use?
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